4-31 Refer to Fig. P4-31. Determine the forces acting on vertical member ABC due to the 2-kN load and the
uniformly distributed wind load shown.

Solution.
400
|~800 mm a-l-mm..
CA o
_ - -
! - 5
600 mm &
’ F
g 2l 2 kN
" -
1500 mm = —
11A
7777777 (leecl Suppor'l‘)
e L_Soomm+*_‘_m"‘ 'J € cew +1 O
0 ‘L cw M QY
2N
Eouilibrivm Egua Hoﬂ s
[0S0 mm CZF ) Uﬁ + ’Osk'\{j‘:o
B K’OJ X i

0.5%v (2a0m) 2| ,05 KN ard r/f)x= /,osirii—]

Cfoj:‘u] Aj-zwu:o

[ 050 mm Aj-’vZKM T

(BMuz0) M -=loskr(losm) =2kn(liam) =0
M M= 3.5025 kN'MS

FBD- Enhre Prame




Membey CDE

%Fﬁa
A "
2, D
C)T 5| F \L
F | " ZKN
—— 00 M —— | — HOOmm
FED —membe) cDE seis i 9
Cw — M <J
Ezv) librium Eguations
[Z'Mc::oj % FBD (o.gm) — 2 kN (I,zm) =0
Fep= = (24K0m) gk (o)
d. 8m
2Fhy=o _
C ®=0) Cx + % Fep =0

Ehy

g (sren)y = —4 KN =D

. ard /C;= ‘Hwé:)

Cu + 3 -2¢N =0
J &

an 2LKN — %(skm) = — 1N T

ot Gz 1oy




St)mrwr\ar\'s.g__ Resvu 45

C:\J-:-I Kf"/r CX" dpn
C —>

3k
kN

%

[.0S er__>

M= 3,5029 kn'm

= /\A

Aj: AN

Mmembey ABC

All mmembers ag »

member CDE

3
\I/ FrN
D
LV
3N
Membey BD

e&un‘rlorr'wv\ \/

(TFm)





